
+53.910
Level 3 - Terrace

+57.540
Level 4 - Mezzanine

+61.170
Plant

D C B A

1200

1200

1200

1200

1200

1200

1200

1200

1200

1200

1378

1200

EXISTING BILDING WALL LINE

PFC

PFC

PFC

Angle 75ea6

Angle 75ea6

Angle 75ea6

Angle 75ea6

Angle 75ea6

Angle 75ea6

To install on Site

To install on Site

+54.895

To install on Site

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab Wall Cladding Set-up

ARWC-FC-BLD1-DWG-1001 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



300 300 300

15 15 15 15

285 285 285

1200

custom-made panel custom-made panel

30

standard panel

standard panel

HDG Angle 75ea6 screwed to

sandwich panel

4off Slotted holes

VOLCORE INSULATED PANEL

INSIDE

OUTSIDE

Weatherproof

Polyurethane Sealant

30

PFC 125

M10 Bolt, @

350mm max

Sealed Head

M8 Bolt, 4off

for each panel

Weatherproof Polyurethane

Sealant

Weatherproof Polyurethane

Sealant

15

285

300 300

285

300

285

Stainless steel d=4.0mm

pop rivets, @ 300mm ctrs.

Stainless steel

squar washer on

silicone bed

2
5

10
0

8

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab wall, Section 1

ARWC-FC-BLD1-DWG-1002 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



240 (TBC)250

100 25

Steel Column

SHS 250x250x9

Existing Building

Elzinc 0.7mm Flashing with

gutter

HILTI HUS-HR M8 SCREW ANCHORS

sealed head (2off for each U-channel)

V25 panel

10g SS HexHead Screw, @ 250 mm

Sandwich-panel

PFC 125

Steel Angle 75ea6 screwed to

sandwich panel

M8 Bolt, @ 350mm max

FALL 5°

11
0

M8 Bolt, @350mm
Sealed Head

Packer

Continuous custom made

Z-bracket  from 4mm steel

SS M8 Bolt, @ 350mm max

Packer

85 (TBC)

Galvanised Trapizoidal sheet

Stainless steel squar

washer on silicone bed

Stainless steel d=4.0mm

pop rivets, @ 300mm ctrs.

Cell foam block

B
O
U
N
D
A
R
Y
 L

IN
E

Weather silicone bed

Continuous custom made 2.0mm

galvanised subflashing

8

Caulking Weather silicone

Elzinc 0.7mm wall caping

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab wall, Section 2

ARWC-FC-BLD1-DWG-1003 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



Nominal roof line
Face of roofing

8020080 115

2
5

11

10
0

100 25

V25 panel

Sandwich-panel

Poprivets

Custom-made Elzinc

0.7mm Flashing

M12 Bolt, @

1200mm max

Steel Angle 150ea10

M8 bolt with sealed nut

Waterproof Membrane

Zinc standing seam roofing over

Enkavent & waterproof membrane

17mm Structural plywood

2
5

8g SS Countersunk screw, @300mm

centers in zig-zag pattern

2
5

1mm Continuous Galvanised

Fllashing

Stainless steel

d=4.0mm pop rivets,

@ 300mm ctrs.

Rockwool to compress

Stainless steel squar

washer on silicone bed

8

32 (TBC)

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab roof, Section 3

ARWC-FC-BLD1-DWG-1004 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



2
4
0
 (
T
B
C
)

10
0

2
5

70

60

A A

Existing

Building Wall

HILTI HUS-HR M6 SCREW

ANCHORS, @300mm max

Vertical Jamb Flashing

Weather silicone

Bottom Sill Flashing

V25 panel

Sandwich-panel

Stainless steel

d=4.0mm pop

rivets, @ 300mm

ctrs.

Vertical Steel

Angle 75ea6

10g SS HexHead Screw, @ 250

mm

Silicone with

backing rod

BOUNDARY LINE

Double sided tape

8

Continuous custom made support

flashing from 2.0mm galvanised steel

Double Sided Tape

Horizontal Top Hat, @400mm max Packer

А - А

Bottom Sill Flashing

Vertical Jamb Flashing

Top Sill Flashing

Silicone with backing rod

Cell foam block

Cell foam block

Horizontal Top Hat, @400mm max

Double Sided Tape

Double Sided Tape

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab roof, Section 4

ARWC-FC-BLD1-DWG-1005 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



1mm Continuous Galvanised

Fllashing

80 200 115 65

11

10
0

10g SS Countersunk screw

Thermal break strips over

self-adhered sheet membrane

SD500 SS hex head screw

12-14*25

V25 panel

Sandwich-panel

Stainless steel d=4.0mm

pop rivets, @ 300mm ctrs.

Nom.Zinc Cover Band

Rainscreen to Clip

onto Supports

Weather Silicone

wuth Backing Rod

(BY OTHERS)

Support Frame (BY OTHERS)

V25 panel

Cut on site

Additional Flashing

Weather Silicon

Back pan

Brackets from custom made

galvsnised steel U-channel

30x50x30x1.2, @450-600mm

Vertical Steel angle 75ea6,

fixed by welding

Horizontal Steel PFC 125x65,

fixed by welding

10

185 - CENTRE

5
0

2
5

Zinc Cladding crimped edge

4.0 SS rivets

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab wall, Section 5

ARWC-FC-BLD1-DWG-1006 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



115 20080 80

11

SD500 SS hex head screw

12-14*25

Brackets from 1.2mm galvanised

steel U-channel 50x50x50,

@450-600mm

10
0

Nom.Zinc Cover Band

Rainscreen

240 (TBC)

Elzinc 0.7mm Coustom-Made

Flashing

Weather Silicon

with Backing Rod

3
7

Packer

Top Hat

SD500 SS hex head screw

12-14*25

Existing Building Wall

Back pan (BY OTHERS)

15

Termal Break

4.0 SS rivet

10g

Galvanised

Hexhead

screw

Weather silicon bed

1.2mm galvanised steel support flashing

3
7

Double Sided Tape

4.0 SS rivet

4.0 SS rivets

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab wall, Section 6

ARWC-FC-BLD1-DWG-1007 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



Nominal roof line
Face of roofing

8020080 115

2
5

11

2
5

240 (TBC)

Custom-made Elzinc

0.7mm Flashing

Zinc standing seam roofing over

Enkavent & waterproof membrane

17mm Structural plywood

2
5

Spenglerscrew with neo washer

and 6mm nylon plug 35-300mm

centers

10g SS

Countersunk

screw

Brackets from Steel

Angle 100x75ua6 (BY

OTHERS)

Brackets from Steel

Angle 100x75ua6

15

Weather silicone

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

 BLD1, Prefab roof, Section 7

ARWC-FC-BLD1-DWG-1008 for construction

06.01.2025 00

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
PH: 02 9482 4461FAX: 02 9482 4177

www.arcroofing.com.au

DRN  CKDREV DATE
DESCRIPTION

JOB No.

CLIENT / SITE

DATE REVDRAWING TITLE

SCALE @ A2

ISSUED

NOTES:

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE

CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE

CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM

THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /

ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.

-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN

REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

GENERAL NOTES:

1. All folded angles/top hats providing support to the plywood to

be 1.2mm galvanised steel.

2. All non-visual folded flashings providing support to the roofing

to be 0.7mm galvanised steel.

3. Roofing clips at 300mm CTRs.

4. General fixings at 300mm CTRs.

5. Plywood fixings 10g wingtek CSK galvanised.

6. Flashing/roofing fixings 8g CSK stainless steel.

7. Plywood F11 grade.

8. Purlins supporting plywood to be 600mm CTRs typically and

400mm CTRs at the curve.

9. Curved plywood to incorporate 9mm deep x 4.5mm wide notches

at 100mm CTRs.



Wall panels
1:50

BD C A

04

BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

4784

REV DATE DRNDESCRIPTION

Notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

BLD1, Additional Steel Set Up.
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

For construction

13.12.2024

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE
CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE
CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM
THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /
ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.
-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN
REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD
UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

ARWC-FC-BLD1-DWG-1009

1200

1677

1200

70

1269

229

1200

70
4523

13
68

65
4

1409

1200

+61.170

+57.540

Existing bilding wall line

19790

1200

1200

1200

1200

1200

1200

1200

1200

1082

453

709062006500

24
77

70
10

83

75
°

87
6

36
30

70

70

70

7103942656

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010
CLIENT / SITE

0006.01.2025

for constructionARWC-FC-BLD1-DWG-1009

BLD1, Additional Steel Set Up



04

BLD1: 56-76 Oxford St., Darlinghurst NSW 2010

4784

REV DATE DRNDESCRIPTION

Notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

BLD1, Additional Steel Details.
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

For construction

13.12.2024

-ALL DETAILS ARE TO BE VERIFIED ON SITE, AND ARE SUBJECT TO SITE
CONDITIONS. THESE DETAILS INDICATE THE GENERAL PRINCIPLE OF THE
CLADDING SYSTEM AND MAY VARY SLIGHTLY. DETAILS THAT VARY FROM
THIS DESIGN, OR ARE IN QUESTION, ARE TO BE APPROVED BY THE BUILDER /
ARCHITECT, PRIOR TO THE COMMENCEMENT OF WORK.
-THIS DOCUMENT AND THE INTELLECTUAL PROPERTY CONTAINED HEREIN
REMAIN THE PROPERTY OF ARC, AND MAY NOT BE DISCLOSED TO THIRD
UNIT 2, 37A KING ROAD, HORNSBY NSW 2077

ARWC-FC-BLD1-DWG-1010
Section B

1:10

Steel constractions
1:50

Detail A
1:10

Section A
1:10

Detail B
1:10

Detail C
1:10 Detail D

1:10

Detail E
1:10

Section D
1:10

Section C
1:10

Section E
1:10

11

D C B A

11

A

1111
11

4*M16x45

4*M10x45

PFC150*75*6410

PFC125*65*2875

PL12*125*270
EA75*75*6*1000

12
5

40

24

38
12

40

4533

PFC150*75*2905

EA75*75*6*1100

846

40
40

PFC150*75*2905

EA75*75*6*1100

846

125 4408

1093

846

40

120

DET. C

PFC150*75*3845

PFC150*75*3845

6200

PFC150*75*3845

EA100*100*6*7694

18
69

846

EA75*75*6*1100

18
69

PFC150*75*2905

450
EA100*100*6*530
6 pcs

PFC125*65*2875

PFC150*75*4745

15
70

40

PFC150*75*6410

846

EA75*75*6*464

+57.540

+61.170

DET. A

DET. B DET. D

DET. E

PFC150*75*3845

EA75*75*6*1100

EA75*75*6*1100

PFC150*75*4539

PFC150*75*4745 EA75*75*6*664 EA75*75*6*464

PFC125*65*450

PFC150*75*2905 PFC125*65*635

PFC125*65*635

EA75*75*6*599

EA75*75*6*650

EA75*75*6*1100

EA100*100*6*200
8 pcs

EA100*100*6*530

EA100*100*6*300

19790

40

450

40

40

846
846

846
846

40

220
40

15
70

65
4

18
5

65
4

18
5

71070906500
395249915461667

PFC125*65*2875
PL12*140*235

AA

Chemical anchor M12
Monolite slab

+57.805

30

30

PL12*140*235
PFC125*65*2875

38

175

42

30

30

BB

4*M16x45

25

55

4*M10x45

PFC150*75*6410

PFC125*65*2875

PL12*125*270

EA75*75*6*1000+58.810

35

525
17

5

50

1*M16x55

1*M16x50

65

3*M10x45
C

C

2*M12x45
EA100*100*6*530

EA100*100*6*530

47

PFC150*75*6410

EA75*75*6*650

FL12*150*126

FL12*150*162

50

+58.810
Weld

Weld

37

5026

5

Weld

EA75*75*6*1744

EA75*75*6*1000

1*M16x50

25

PFC150*75*2905

19

5Weld

UA100*75*8*65
710

+58.810

D

D
60

Weld

1*M16x45

UA100*75*8*65

3*M10x402*M10x45

PFC125*65*635

EA75*75*6*500

5

EA75*75*6*150

Weld

Weld
5mm packer

40

60

E

E
4*M10x45

PFC150*75*3845

EA75*75*6*1100

40

+56.941

EA75*75*6*664

FL10*65*100

1*M16x45

5
10

1*M16x50

5

1*M16x45

PFC150*75*2905

UA100*75*8*65

UA100*75*8*65

5mm packer

125
65

3035

Weld
1*M16x55
PFC150*75*6410

EA100*100*6*530

30

FL12*150*126

2*M12x45

40
125

12525

45

30

PFC150*75*3845

EA75*75*6*1100

4*M10x45

1*M16x45
EA75*75*6*664

FL10*65*100

130
40

125

4784

 BLD1: 56-76 Oxford St., Darlinghurst NSW 2010
CLIENT / SITE

0006.01.2025

for constructionARWC-FC-BLD1-DWG-1010

BLD1, Additional Steel Details


